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OF0XINXHEH Z208 299 375,600
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—ZONRAY 2
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—FO0IXX AAK] &2t
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OFOUXNXHEH M (RS, 22, 2d)
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=gakely 461,050 487,800 226,750
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2 Et2 ZH| 65,050 67,200 A2,150
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Oger=ZH| 40,550
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— A=Al &2 g Xt
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OXHEAl ZHE =
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O=ZMusE =& 4,000,000 *= 5% = 33l 60,000
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07 2I2te1=2l (| 220,000 253,000 A33,000
O&AE FMuUF 220,000
—SNM(SF) 5,500,000 * 204 110,000
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O=2Hunsgel =3 63,200
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wWI|E &= 2,625,174 2,638,430 N 13,256
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BALAIE| A 1,200 1,200 0
OBMSSALH S 2
20,000 * 15% * 43| 1,200
SRHS DEAL 12,000 16,000 A4,000
= 3,600
2 8,400
sr2 oY) 12,000 16,000 A4,000
= 3,600
2 8,400
A2 2rel bl 12,000 16,000 24,000
ONSRHE RS 12,000,000 12,000
= 3,600
2 8,400
GIZIIO-JHE OF3tEI0l 29 40,000 40,000 0
st 40,000 40,000 0
A2 bl 40,000 40,000 0
ORI Ot OF3EI0I 2% 40,000,000 40,000
DTZEH 25 L 2Y 1,152,000 4,724,445 A3,572,445
2 50,400
= 92,453
= 53, 100
2 956,047
ITNZ 2Y 152,000 1,024,445 127,555
2 50,400
= 92,453
= 53, 100
2 956,047
CHE 2Y 648,500 645,612 2,888
201 L2y 541,270 548,830 A7,560
01 AR eIt 316,270 309,250 7,020
ot 297,780
—SHE B2IBY RIS 222 (HA, OF
2148 50,000,000 150,000
— 2B 8 170,000 * 3MH 4 * 122 6,120
—CAE ANT R
1,500 * 2,300% * 4l 3,800
—HYY =2HI(X3) 2,000,000 2,000
—ders2 150,000 * 34 * 122 5,400
—FHIIANBE RY(FL, BAX )
450,000 * 34 * 122 16,200
—SANTESE PY(RFIDED L8
6,000,000 * 3744 18,000
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0fl &t 01
—FAN2A2ES L HAEE 2Y
2,000,000 * 3HA 6,000
—EEX Y WCEEtE 7Y
2,500,000 * 304 A 7,500
—BYI| RAZE Y (BH)
1,000,000 * 304 A 3,000
—430 &8 & P2 300,000 * 302 900
—FAI W Yea)| AS2
1,200,000 * 304 A 3,600
—=2D| SX2A2H(XEES, 89)
200,000 * 2)H 2 * 12€& 4,800
—FIIH BRI 4B (XE, S, HE
) 160,000 * 3)HA = 12&€ 5,760
— &I AHA =42 500,000 * 3IHA 1,500
— A SOLM A A AL 500,000 * 3042 1,500
—AgotM QEFRZIHI(XS, &9)
1,200,000 * 290 2,400
—HAT B SEHE g 248
550,000 = 12& 6,600
— S N2THE FOHH| 200,000 * 34 A 600
—HIIJ| ASZH(ES)
50,000 * 604 = 83l 2,400
QBT ASH 2 woipy
2,000,000 * 3IH A 6,000
—3HAH & AP 500,000 * 302 1,500
—HiOlef A BHAI 2] 1,000,000 * 3042 3,000
—=SAD| AZE FU(EH, SAIEX)
400,000 = 7CH = 43| 11,200
—UXg Nsa ADE(Z2H Y EME)
400,000 * 10CH * 33 12,000
-2 EE BN HH
1,000,000 * 3IHA 3,000
— KN AI(AICHAL) EMWE 252
3,000,000 3,000
Osgag 18,490
— 2 A H| 50,000 * 3044 = 113 16,950
—SHE 2% Y Baag
70,000 * 11 = 23| 1,540
02 E2=2dH| 225,000 239,580 A 14,580
Os322 % HA 119,200
—HOI2 TV S (BY, 25, &9)
00,000 * 32 900
— Mol E 22 170,000 * 3HA = 12&€ 6,120
—SZINEREE 2 180,000 * 3)HZA * 23] 1,080
— A YOt E Y| 300,000 = 13l 300
—23T A2 83| 500,000 = 13l 500
—St=2 T A2 &3l 500,000 * 13| 500
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—&IB(BY, 25, 42
1,710,000 * 3JHA * 128 61,560
O 2| 27,200
—C N HBHI(EY) 1,600 * 15,000 ¢ 24,000
—0lSZA2 L&D AZH|
1,600 * 20 £ = 100 3,200
OAl & ZHI S XIH 78,600
—S A2 AEES X2l
10,000,000 * 390 A 30,000
—0Xg Uza X2
8,200,000 * 3704 24,600
—dHugd|ae 2 SXES
2,000,000 * 300 A 6,000
—CMZ HELULS HEA 6,000,000 * 3L 18,000
202 OfH] 4,000 4,482 A482
01 2o 4,000 4,482 A482
O0sSEAMZ 25 10,000 * 29 * 200 4,000
206 XH2H| 5,000 0 5,000
01 M24I 5,000 0 5,000
OXOHEAI(AICIAl) e SHANE 2
5,000,000 5,000
401 Al&HI L0 90,000 26,000 64,000
01 Al&H] 90,000 26,000 64,000
OXZTHZ TR 2012% L 88 TR
Hl 2 At 50,000,000 50,000
OXZECHZ HELX(HEL 3,000,000 3,000
OZNZ 22 Q9 g40t M (XE)
12,000,000 12,000
OZ M2 CCTV HXI(XZE, &)
2,000,000 = 10CH 20,000
OXAZT M SHHAl HIAE IS HEHIE X (4R
) 5,000,000 5,000
405 KHAHE SH 8,230 41,300 A33,070
01 ML SEFSH| 8,230 41,300 A33,070
OFLTAHZ ooz ¢ 2,610,000 * 3CH 7,830
OXEZT M DED| 2 400,000 * 1CH 400
23tstn 29 116,500 102,000 14,500
2 25,210
= 91,290
201 LEt2HH| 109,000 87,000 22,000
=2 25,210
= 83,790
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—SHB E AN U SO L A
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2 4,790
—ZYDS Y SHYSEZIY 29
10,000,000 * 37 30,000
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= 16,800
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